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Code No.  35
Total No. of Questions : 40 ] [ Total No. of Printed Pages : 15

March, 2008

MATHEMATICS

( Kannada and English Versions )

Time : 3 Hours 15 Minutes ] [ Max. Marks : 100

( Kannada Version )

‚ÂÍºÂ» : i) ® …ÂX‡R …ÂãXxŒÈëY A, B, C, D ÆÂÈ∆ÂÈO E Ø¢Ã »Ê‹È@ êü˘ÊπÂπÂúÕ.

Ø£ÊY êü˘ÊπÂπÂ›Â»ÂÈR ©∆ÂOàö.

ii) êü˘ÊπÂ - A π 10 •¢∑πÂ›ÂÈ, êü˘ÊπÂ - B π 20 •¢∑πÂ›ÂÈ, êü˘ÊπÂ -

C π 40  •¢∑πÂ›ÂÈ,   êü˘ÊπÂ - D π    20  •¢∑πÂ›ÂÈ   ÆÂÈ∆ÂÈO  

êü˘ÊπÂ - E π 10 •¢∑πÂú¬ÂÈ∆ÂOÕ.

êü˘ÊπÂ – A

® x›ÂÇ»Â Ø£ÊY „Â∆ÂÈO …ÂX‡RπÂ›Â»ÂÈR ©∆ÂOàö : 10 × 1 = 10

1. 2x + 5 ≡ x + 4 ( mod 5 ) »Â ∑ç·ÂK «˘Â»Ê∆ÂV∑ …ÂÌ}Ê¸¢∑ x •»ÂÈR ∑¢√ÂÈõâíÈà.

2. A = 





5 – x 2y – 8

0 3
    •å‡Â ÆÂ⁄∆ÂÎx ¶«Â¬, x ÆÂÈ∆ÂÈO y πÂ›Â ü£ ∞»ÂÈ ?

3. a ✳ b = 
3ab
7   ¶«Â¬, ✳ ‚Â„ÂÕÂ∆Â¸çŒÈ Ø¢«ÂÈ ‚Êå̆ö.
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4. ‚ÂÆÂÈ∆Â‹ ‚Âå‡ÂπÂ›Â»ÂÈR ÕÊWzÊWçö.

5. x 2  + y 2  + 2gx + 2fy + c = 0 ÕÂÎ∆ÂOÕÂÏ  Ø¬Â√ÂÈ  •∑\πÂ›Â»ÂÈR  ‚ÂSò¸‚Â‹È  ß¬ÂÈÕÂ

çÃ¢«Â̆» ∞»ÂÈ ?

6. y 2  = 12x …Â¬ÂÕÂ‹ŒÈ«Â »Êè˘‹¢Ã«Â ©«ÂQ«Â xÍ» è¢«ÂÈπÂ›Â ç«Ò¸‡Â∑πÂ›Â»ÂÈR

∑¢√ÂÈõâíÈà.

7. tan ( ) tan – 1 3    + sec – 1  { sec – 1 ( – 2 )  } ¬Â ü£ ∞»ÂÈ ?

8. i »Â πÂÈ}ÊyÊ¬Â ê£ÛËÆÂÈÕÂ»ÂÈR ( Multiplicative inverse ) Ã¬íÈà.

9. x •»ÂÈR ∑Èà∆ÂÈ y = f ( x ) ç¬Â¢∆Â¬Â ©∆ÂS»ÂR ÕÊ∑W«Â •ÕÂ∑‹ πÂÈ}Ê¢∑«Â ÕÊWzÊW»Â xÍâ.

10. ⌡
⌠ 

1 – cos x
sin 2 x

   dx »Â ü£ŒÈ»ÂÈR ∑¢√ÂÈõâíÈà.

êü˘ÊπÂ – B

® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ „Â∆ÂÈO …ÂX‡RπÂ›Â»ÂÈR ©∆ÂOàö : 10 × 2 = 20

11. z ÆÈËë»Â ‚ÂÕÊ¸¢πÂ‚ÂÆÂÈ ÆÂ⁄…Â»Â ( Congruence modulo ) m ‚Â¢Ã¢«Â̆ÕÂÏ z ÆÈËë»Â

∆ÂÈ‹W∆Ê ‚Â¢Ã¢«Â̆ÕÊÇ¬ÂÈ∆ÂO« •«˘̊ÂÕÊ a ≡ b ( mod m ), z ÆÈËë»Â ∆ÂÈ‹W∆Ê

‚Â¢Ã¢«Â̆ÕÊÇ¬ÂÈ∆ÂO« Ø¢«ÂÈ ‚Êå̆ö.

12. ü£ŒÈ»ÂÈR ∑¢√ÂÈõâíÈà :  





2001 2004

2007 2010
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13. ≤¢«ÂÈ  ‚Â¢∑È‹«Â ( G, ✳ ) ŒÈÈ  ∀ a ∈ G,  a – 1  = a  ¶«Â¬,  ( G, ✳ )  ŒÈÈ  ≤¢«ÂÈ

•èËëŒÈ» Ỗ ‚Â¢∑È‹ Ø¢«ÂÈ ∆ÛËàö.

14. λ  î   + 2  ĵ   –  k̂    ÆÂÈ∆ÂÈO    î   – 3  ĵ   + 2 k̂    ßÕ¬Â√ÂÍ ‹¢Ã ‚ÂåË‡ÂπÂ›ÊÇ«ÂQ¬ λ «Â

ü£ŒÈ»ÂÈR ∑¢√ÂÈõâíÈà.

15. x = 3 + 2 cos θ ÆÂÈ∆ÂÈO y = 1 + 2 sin θ …ÂXêÈãŒÈ ‚ÂêÈË∑¬Â≈πÂú¢«Â ÕÂÎ∆ÂO«Â

êöOË≈¸ÕÂ»ÂÈR ∑¢√ÂÈõâíÈà.

16. •»ÂÈ…ÂX‚ÂP  •∑\ = 10,  ©∆@Ë¢«ÂX∆  ( e ) = 2  ¶«ÊπÂ,  •ã…Â¬ÂÕÂ‹ŒÈ«Â  ( Hyperbola )

‚ÂêÈË∑¬Â≈ÕÂ»ÂÈR  x
 2

a 2   – 
y 2

b 2   =  1 ¬ÂÍ…Â«ÂëY ∑¢√ÂÈõâíÈà.

17. tan – 1  = sin – 1 12  + cos – 1 
3 + 1

2 2
  ¶«Â¬, x ü£ ∞»ÂÈ ?

18. e 1 + i π/3  + e 1 – i π/3  = e Ø¢«ÂÈ ‚Êå̆ö.

19. 



 

x
a 

 n
  + 



 

y
b 

 n
  = 2 ¶«Â¬, ( a, b ) è¢«ÂÈê»ÂëY  dy

dx    »Â ü£ ∞»ÂÈ ?

20. ( 1, 3 ) ¬ÂëY  x 3  + xy + y 2  = 13 ÕÂ∑X¬Òzπ ©…Â‚ÂS‡Â̧ ∑«Â ©«ÂQÕÂ»ÂÈR ∑¢√ÂÈõâíÈà.

21. ⌡
⌠ 

1 
sin 2 x cos 2 x

  dx  »Â ü£ ∞»ÂÈ ?

22. sin – 1  x + sin – 1  y = c ŒÈëY  …ÂXêÈã  c ŒÈ»ÂÈR  „Û¬Â∆ÂÈ…Ââö  •ÕÂ∑‹

‚ÂêÈË∑¬Â≈ÕÂ»ÂÈR ¬ÂÑö.
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êü˘ÊπÂ – C

 I. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ÆÂÈÍ¬ÂÈ …ÂX‡RπÂ›Â»ÂÈR ©∆ÂOàö : 3 × 5 = 15

23. 39744 ¬Â  Ø£ÊY  «Â̆»Ê∆ÂV∑  êü˘Êæ∑πÂ›Â  ‚Â¢zW  ÆÂÈ∆ÂÈO  Ø£ÊY  «Â̆»Ê∆ÂV∑

êü˘Êæ∑πÂ›Â ÆÍ∆ÂOπÂ›Â»ÂÈR ∑¢√ÂÈõâíÈà. 5

24. a)







a 2 + bc a 1

b 2 + ca b 1

c 2 + ab c 1

  =  – 2 ( a – b )  ( b – c )  ( c – a ) Ø¢«ÂÈ

‚Êå̆ö. 3

b) xXÆÂÈ¬ Ỗ»Â çŒÈÆÂÈ«Â¢∆ x ÆÂÈ∆ÂÈO y πÂ›Â ü£ ∑¢√ÂÈõâíÈà :

x + 2y = 7

4x – 5y = 2. 2

25. a) πÂÈ}ÊyÊ¬Â ‚Ê…Ò∑\«Â ( Multiplication modulo ) •å˘Ë»Â«ÂëY

H = { 1, 2,  4 }  ⊗ 7   Ø¢ÃÈ«ÂÈ  G =  { 1, 2, 3, 4, 5, 6 }  ⊗ 7 

‚Â¢∑È‹«Â ©…Â‚Â¢∑È‹Õ¢«ÂÈ ‚Êå˘ö. 3

b) ‚Â¢∑È‹«Â ∆Â∆Â]ÆÂÈ∑ •ÕÂŒÈÕÂÕÂÏ ∞xÚ∑ÕÊÇ« Ø¢«ÂÈ ‚Êå̆ö. 2

26. a)   î   –   ĵ   + λ  k̂  ,   4  î   + 2  ĵ   + 9 k̂  ,   5  î   +   ĵ   + 14 k̂   ÆÂÈ∆ÂÈO 3  î   +

2  ĵ   + 7 k̂   Ø¢Ã ‚Âå‡ÂπÂ›ÂÈ  »Ê‹È@  ‚ÂÆÂÈ∆Â‹  è¢«ÂÈπÂ›Â  öPã  ‚Âå‡ÂπÂ›ÊÇ«ÂQ¬,

λ  ü£ŒÈ»ÂÈR ∑¢√ÂÈõâíÈà. 3

b) 2  î   –   ĵ   + 2 k̂   ß«Â¬Â åÄ@»ÂëY¬ÂÈÕÂ ∞∑∑ ‚Âå‡ÂÕÂ»ÂÈR ∑¢√ÂÈõâíÈà. 2
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II. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ Ø¬Â√ÂÈ …ÂX‡RπÂúπ ©∆ÂOàö : 2 × 5 = 10

27. a) x 2  + y 2  – 6y + 1 = 0 ÆÂÈ∆ÂÈO x 2  + y 2  – 4y + 1 = 0 ÕÂÎ∆ÂOπÂ›Â»ÂÈR

‹¢ÃÕÊÇ Ω¯Òå‚ÂÈÕÂ ÆÂÈ∆ÂÈO 3x + 4y + 5 = 0 ‚Â¬Â›Â ¬ÒzŒÈ ÆÈË£

xË¢«ÂXè¢«ÂÈÕÂÏ›Â_ ÕÂÎ∆ÂO«Â ‚ÂêÈË∑¬Â≈ÕÂ»ÂÈR ∑¢√ÂÈõâíÈà. 3

b) ( 4, 2 )  ÆÂÈ∆ÂÈO  ( – 5, 7 )  è¢«ÂÈπÂ›ÂÈ  ÕÊW‚Â«Â  ∆ÂÈåπÂ›ÊÇ¬ÂÈÕÂ  ÕÂÎ∆ÂO«Â

‚ÂêÈË∑¬Â≈ÕÂ»ÂÈR ∑¢√ÂÈõâíÈà. 2

28. a) y = mx + c  ‚Â¬Â›Â¬ÒzŒÈÈ  
x 2

a 2   –  
y 2

b 2   =  1 •ã…Â¬ÂÕÂ‹ŒÈx@ (

Hyperbola ) ‚ÂS‡Â¸∑ÕÊπÂüÒyÊπÂ‹È çÃ¢«˘Â»ŒÈ»ÂÈR ∑¢√ÂÈõâíÈà. 3

b) y 2  – 8x – 32 = 0 …Â¬ÂÕÂ‹ŒÈ«Â ( Parabola ) »Êè˘ŒÈ»ÂÈR ∑¢√ÂÈõâíÈà. 2

29. tan – 1  
a ( a + b + c )

bc   + tan – 1  
b ( a + b + c )

ca   + tan – 1  
c ( a + b + c )

ab    =

0 Ø¢«ÂÈ ‚Êå̆ö. 5

III. ® x›ÂÇ»Â Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ÆÂÈÍ¬ÂÈ …ÂX‡RπÂúπ ©∆ÂOàö : 3 × 5 = 15

30. a) ÆÂÈÍ‹ ∆Â∆ÂZå¢«Â x π ‚Â¢Ã¢å˘ö«Â¢∆, cosec ( ax ) •»ÂÈR ç·ÂSçRö. 3

b) sin x ©∆ÂS»ÂRÕÂ»ÂÈR log e  x ©∆ÂS»ÂRx@ •ÕÂ‹¢èö«Â¢∆ ç·ÂSçRö. 2
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31. a) e x  + e y  = e x + y   ¶«Â¬,  dy
dx    =  – e y – x  Ø¢«ÂÈ ‚Êå̆ö. 2

b) x =  tan – 1  
1 – t
1 + t   ,  y = cos – 1 ( ) 4t 3 – 3t     ¶«Â¬,  dy

dx    =  6

Ø¢«ÂÈ ‚Êå̆ö. 3

32. a) y = sin 2  








 cot – 1   
1 + x
1 – x       ¶«Â¬,  dy

dx    =  –  
1
2   Ø¢«ÂÈ ‚Êå̆ö. 3

b) ⌡
⌠ 

sin x
1 + sin x   dx ü£ŒÈ»ÂÈR ∑¢√ÂÈõâíÈà. 2

33. a) ⌡
⌠ 

cos x
2 sin 2 x + 3 sin x + 4

   dx ü£ŒÈ»ÂÈR ∑¢√ÂÈõâíÈà. 3

b) ⌡
⌠ 

x

x 2 – 4
   dx ü£ŒÈ»ÂÈR ∑¢√ÂÈõâíÈà. 2

34. ‚ÂÆÂ⁄∑‹»Â ê«˘Ê»Âå¢«Â  x
 2

25  + 
y 2

9   = 1 åË∫Â§¸ÕÂÎ∆ÂO«Â x\Ë∆ÂXÀÂ‹ÕÂ»ÂÈR ∑¢√ÂÈõâíÈà. 5

êü˘ÊπÂ – D

® x›ÂÇ»Â Œ⁄ÕÂÏ«Ê«Â¬ÂÍ Ø¬Â√ÂÈ …ÂX‡RπÂ›Â»ÂÈR ©∆ÂOàö : 2 × 10 = 20

35. a) åË∫Â§¸ÕÂÎ∆ÂO«Â  ÕÊWzWŒÈ»ÂÈR  ãúö.  •«Â¬Â  ‚ÂêÈË∑¬Â≈ÕÂ»ÂÈR  
x 2

a 2   +  
y 2

b 2   = 1

¶«Â‡Â̧  ¬ÂÍ…Â«ÂëY ∑¢√ÂÈõâíÈà. 6

b) A =  







 
2     3
 
2     5

     ¶«Â¬,  yÊWë-„ÊWêÈ‹J»˜Ô  …ÂXÆÈËŒÈÕÂ»ÂÈR  ©…ÂûÍËÇö,  A »Â

•»ÂÈ£ÛËÆÂÈÕÂ»ÂÈR  ( ) A – 1    ∑¢√ÂÈõâíÈà. 4
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36. a) Ø£ÊY  •∑¬ÂäËŒÈ  ‚ÂÍºÂyÊ¢∑πÂúπ  â  ÆÂÈÍíÈÕÂ¬˜Ô»Â  …ÂXÆÈËŒÈÕÂ»ÂÈR  ç¬ÂÍéö

ÆÂÈ∆ÂÈO ‚Êå̆ö. 6

b) {ÊW çŒÈÆÂÈ  a
sin A   =  

b
sin B   =  

c
sin C   Ø¢«ÂÈ ‚Âå‡Â …Â«ÂQMãŒÈëY ‚Êå˘ö. 4

37. a) a ãXæWÕÂÏ›Â_ ÕÂÎ∆ÂO«ÂëY πÂà·ÂK êöOË≈¸ÕÂÏ›Â_ ¶ŒÈ∆ÂÕÂ»ÂÈR •¢∆ÂπÂ̧ ∆ÂπÛú‚ÂüÒyÊ«Â¬ ¶

¶ŒÈ∆ÂÕÂÏ ºı∑ÕÊÇ¬ÂüÒx¢«ÂÈ ‚Êå̆ö. 6

b) ( )  3 + 1    cos θ + ( )  3 – 1     sin θ = 2 Ø¢ÃÈ«Â¬Â ‚ÊÆÂ⁄»ÂW …Âà„Ê¬ÂÕÂ»ÂÈR

∑¢√ÂÈõâíÈà. 4

38. a) ⌡
⌠

0

π/2

  
dx

sin x + cos x   =  
1

2
   log  









 
2 + 1

2 – 1
    Ø¢«ÂÈ ‚Êå̆ö. 6

b)
dy
dx    =  ( x + y – 1 ) 2  •ÕÂ∑‹ ‚ÂêÈË∑¬Â≈ÕÂ»ÂÈR èâö. 4

êü˘ÊπÂ – E

® x›ÂÇ»Â Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ≤¢«ÂÈ …ÂX‡Rπ ©∆ÂOàö : 1 × 10 = 10

39. a) 1 + i êÈ‡ÂX ™„ ‚Â¢zWŒÈ ∫Â§»ÂÆÂÈÍ‹πÂ›Â»ÂÈR ∑¢√ÂÈõâíÈà. •ÕÂÏπÂ›Â»ÂÈR ¶πÊ¸¢√ Ỗ Ñ

∆ÂX«ÂëY ∆ÛËàö. 4

b) x 2  + y 2  – 8x – 6y = 0  ÕÂÎ∆ÂO   ÆÂÈ∆ÂÈO   x – 7y – 8 = 0  ¬Òz  ßÕÂÏπÂú¢«Â

Ω¯Òå‚Â‹S√ÂÈÕÂ {ÊW«Â ©«ÂQÕÂ»ÂÈR ∑¢√ÂÈõâíÈà. 4

c) 7 123  ‚Â¢zWŒÈ ∞∑∑ ‚ÊP»Â (èâ ‚ÊP»Â) «Â •¢∑ÕÂ»ÂÈR ∑¢√ÂÈõâíÈà. 2
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40. a) | 
→
a   | = 13,  | 

→
b   | = 19  ÆÂÈ∆ÂÈO  | 

→
a   + 

→
b   | = 24 ¶«Â¬,  | 

→
a   – 

→
b   |

ŒÈ ü£ ∞»ÂÈ ? 4

b) ⌡⌠ tan 4 x dx  »Â ü£ŒÈ»ÂÈR ∑¢√ÂÈõâíÈà. 4

c) y  =  log cos x   ¶«Â¬,  dy
dx   »Â ü£ŒÈ»ÂÈR ∑¢√ÂÈõâíÈà. 2
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( English Version )

Instructions : i) The question paper has five Parts – A, B, C, D and E.

Answer all the parts.

ii) Part – A carries 10 marks, Part – B carries 20 marks,

Part – C carries 40 marks, Part – D carries 20 marks  and

Part – E carries 10 marks.

PART – A

Answer all the ten questions : 10 × 1 = 10

1. Find the least positive integer x satisfying 2x + 5 ≡ x + 4 ( mod 5 ).

2. If  A = 





5 – x 2y – 8

0 3
   is scalar matrix, find x and y.

3. If  a ✳ b = 
3ab
7    , then prove that ✳ is associative.

4. Define co-planar vectors.

5. Write the condition for the circle x 2  + y 2  + 2gx + 2fy + c = 0 touches

both axes.

6. Find the co-ordinates of the end points of length of the latus rectum of the

parabola  y 2  = 12x.

7. Find the value of tan ( ) tan – 1 3    + sec – 1  { sec ( – 2 ) } .
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8. Write the multiplicative inverse of i.

9. Define the differential coefficient of a continuous function  y = f ( x )

w.r.t.  x.

10. Evaluate  ⌡
⌠ 

1 – cos x
sin 2 x

   dx.

PART – B

Answer any ten questions : 10 × 2 = 20

11. The relation ‘Congruence modulo m’ is an equivalence relation on  z  or

prove that  a ≡ b ( mod m ) is an equivalence relation on z.

12. Evaluate  





2001 2004

2007 2010
  .

13. If in a group ( G, ✳ ) ∀ a ∈ G,  a – 1  = a,  then prove that  ( G, ✳ )  is an

Abelian group.

14. If the vectors λ  î   + 2  ĵ   –  k̂    and    î   – 3  ĵ   + 2 k̂    are orthogonal, find λ.

15. Find the area of the circle whose  parametric equations are

x = 3 + 2 cos θ  and  y  = 1 + 2 sin θ.
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16. Find the equation of the hyperbola in the form  
x 2

a 2   – 
y 2

b 2   =  1. Given

that transverse axis = 10, and eccentricity ( e ) = 2.

17. Find x if  tan – 1  = sin – 1 12  + cos – 1 
3 + 1

2 2
  .

18. Prove that  e 1 + i π/3  + e 1 – i π/3  = e.

19. If  



 

x
a 

 n
  + 



 

y
b 

 n
  = 2, then find  

dy
dx    at ( a, b ).

20. Find the length of the sub-tangent to the curve  x 3  + xy + y 2  = 13  

at ( 1, 3 ).

21. Evaluate  ⌡
⌠ 

1
sin 2 x cos 2 x

   dx.

22. Form the differential equation by eliminating the parameter c.

sin – 1  x + sin – 1  y = c.

PART – C

 I. Answer any three questions : 3 × 5 = 15

23. Find the number of all positive divisors and the sum of all positive

divisors of 39744. 5
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24. a) Show that







a 2 + bc a 1

b 2 + ca b 1

c 2 + ab c 1

  =  – 2 ( a – b ) ( b – c ) ( c – a ). 3

b) Find the values of x and y according to Cramer's rule :

x + 2y = 7

4x – 5y = 2. 2

25. a) Prove that the set H = { 1, 2, 4 } ⊗ 7  is a sub-group of the

group

G =  { 1, 2, 3, 4, 5, 6 } ⊗ 7  under multiplication modulo 7. 3

b) Prove that the identity element of a group is unique. 2

26. a) If the vectors    î   –   ĵ   + λ  k̂  ,  4  î   + 2  ĵ   + 9 k̂  ,  5 ̂i   +   ĵ   + 14 k̂   

and 3  î   + 2  ĵ   + 7 k̂   are the position vectors of the four

coplanar points, find λ. 3

b) Find the unit vector in the direction of 2  î   –   ĵ   + 2 k̂  . 2

II. Answer any two questions : 2 × 5 = 10

27. a) Find the equation of the circle which cuts the two circles

x 2  + y 2  – 6y + 1 = 0 and x 2  + y 2  – 4y + 1 = 0 orthogonally

and whose centre lies on the line 3x + 4y + 5 = 0. 3

b) Find the equation of the circle having ( 4, 2 ) and ( – 5, 7 ) as

end points of the diameter. 2
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28. a) Find the condition for the line  y = mx + c  to be a tangent to the

hyperbola  
x 2

a 2   –  
y 2

b 2   =  1. 3

b) Find the focus of the parabola  y 2  – 8x – 32 = 0. 2

29. Prove that

tan – 1  
a ( a + b + c )

bc   + tan – 1  
b ( a + b + c )

ca   + tan – 1  
c ( a + b + c )

ab    =  0 5

III. Answer any three of the following questions : 3 × 5 = 15

30. a) Differentiate  cosec ( ax )  w.r.t.  x  from the first principle. 3

b) Differentiate sin x with respect to  log e  x. 2

31. a) If  e x  + e y  = e x + y   prove that  
dy
dx    =  – e y – x  . 2

b) If  x =  tan – 1  
1 – t
1 + t   ,  y = cos – 1 ( ) 4t 3 – 3t    , prove that

dy
dx    =  6. 3

32. a) If  y = sin 2  








 cot – 1 
1 + x
1 – x      , prove that  

dy
dx    =  –  

1
2  . 3

b) Evaluate  ⌡
⌠ 

sin x
1 + sin x   dx. 2
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33. a) Evaluate  ⌡
⌠ 

cos x
2 sin 2 x + 3 sin x + 4

   dx. 3

b) Evaluate  ⌡
⌠ 

x

x 2 – 4
   dx. 2

34. Find the area of the ellipse  
x 2

25  + 
y 2

9   = 1 by integration method. 5

PART – D

Answer any two of the following questions : 2 × 10 = 20

35. a) Define an ellipse. Derive the equation of the ellipse in the standard

form

x 2

a 2   +  
y 2

b 2   =  1. 6

b) If  A =  







 
2     3
 
2     5

    , find A – 1  by Cayley-Hamilton theorem. 4

36. a) State and prove D’Moivre’s theorem for rational index. 6

b) Prove that the sine rule

a
sin A   =  

b
sin B   =  

c
sin C   by vector method. 4

37. a) Prove that the greatest size rectangle that can be inscribed in a circle

of radius a is a square. 6

b) Find the general solution of  

( )  3 + 1    cos θ + ( )  3 – 1     sin θ = 2. 4
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38. a) Prove that  ⌡
⌠

0

π/2

  
dx

sin x + cos x   =  
1

2
   log  









 
2 + 1

2 – 1
    . 6

b) Solve the differential equation  
dy
dx    =  ( x + y – 1 ) 2  . 4

PART – E

Answer any one of the following questions : 1 × 10 = 10

39. a) Find the cube roots of  1 + i  and represent the Argand diagram. 4

b) Find the length of the chord intercepted by the circle

x 2  + y 2  – 8x – 6y = 0  and the line  x – 7y – 8 = 0. 4

c) Find the digit in the unit place of  7 123 . 2

40. a) If  | 
→
a   | = 13,  | 

→
b   | = 19,  | 

→
a   + 

→
b   | = 24,  find | 

→
a   – 

→
b   |. 4

b) Find  ⌡⌠ tan 4 x dx  . 4

c) If  y  =  log cos x  ,  find  
dy
dx   . 2

                  


